MTH 174, Exam #3, Spring

Instructions: Show all work
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4. Find the sum of series. (6 points each)
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5. Use the integral test to determine if the series E;‘{;l% convelges or diverges. (6 points)
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6. Find the value of N

needed to approximate the sum of the infi

of the true value. (7 points)
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8. Determine if the series Zn_ . converges conditionally or @bsolutely. (6 points)
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9. Determine the number of terms needed to estimate the valuepf the sum of 357, within

0.001 of the true value. (7 points)

10. Determine the interval and radius of convergence of x for the fleries below. Be sure to check

the endpoints. (5 points each)
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11. Write the functlons as a power series centered at c. (6 points
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12. Find a Taylor polynomial for the function centered at ¢ for the iven number of terms. (6 points each)
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14. Find the maximum error on the Taylor polynomial withn = 6

atc = 0,at x = 0.5. The remainder formulais R,, < L
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